
	
	
	
	
	

Bodice Calculations 

AB = Neck to waist measurement + ¼”  
 =_______________________  +  ¼” =___________ 

BC = Waist to Hip measurement  =___________ 

AD = Armscye depth – ½”  
 = ______________________  -   ½” =___________ 

AE = ½ AD = ½ _______________ =___________ 

AF =1/5 AE = 1/5 _______________ =___________ 

AG =1/5 Neck measurement =___________ 

GH = 1/2”  = ½” 

DI = ½ Back width measurement – ½”  
 = ½ ______________________  -   ½” =___________ 

Note on points J & K: Point J is where line squared up 
from I and line squared across from E meet. Point K is 
where line squared up from I and across from F meet.  

KL = ¼” = ¼”  

DM = ¼ Bust measurement – ½”  
 = ¼ ______________________  -   ½” =___________ 

BN = ¼ Waist measurement – ½”  

 = ¼ ______________________  -   ½” =___________ 

CO = ¼ Hip measurement – ½”  

 = ¼ ______________________  -   ½” =___________ 

AP = Shirt Neckline depth =___________ 

LM Measure this length on the bodice =___________ 

 
	
	
	
	
	
	
	
	 	

Sleeve Calculations	
QR	 = ½ Armscye Depth – ¼”	 	
	 = ½ ____________________ - ¼” 	 =___________	
QS	 = Sleeve length	 =___________	

QT	 = Measure of LM from Bodice	 =___________	

TU	 = 1/3 QT	 	
	 = 1/3 __________________	 =___________	

SV	 = ½ Bicep measurement – ¼”	 	
	 = ½ ____________________ - ¼” 	 =___________	
	


